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#include <IRremote.h>
#include “"Wire.h"
#include "LigquidCrystal I2C.h"

{sresults)) |

SR Serial.println ("¥H&EE: ") ;
int RECV PIN = T; Serial.p n(results.value, HEX);
1S 6, TSR LD AR, (eI

int led red = 0

int led green ursor{0, 0):
int led blue t{"Initial setting™);

£ /B FEEE IO R0 RiE0 if (I:Eaults value == 0xrr10mr) i
int potpin = AO; di 1W: {led red, H

{led_green,
IRrecv irrecv(RECV_PIN);

decode_results results;
//BRALEDTE

int val = 0;

/ARERLCD JIFT 2 TR R
LigquidCrystal T2C lcd(0x27, 16, 2); 1f (irrecv.
- Serial.

oid setup() { Serial.
Serial.begin(9600); lecd.cle

(&results)) |
In("FITERE: ")

1n(results.value, HEZ);

0
/AR led. {0, 0);
irrecv b n lcd.print ("After setting™);
JABESIF IOOAER, OUTEUT AHid = EifT
= (led_red, OUTEUT if (results.value == 0xFF9867) { //fT 02l SHEERET
{led_green, UT) s brightAll():
(led_blue, OUTEUT); } elss if (results.value == OxFFRA25D) { //4%T 1SE# i) BAT=ERT
brightRed();
//ilﬂﬁﬁﬁﬂ } slse if (results.value == 0xFF629D) { //{FT2S@liHitaea=EiEs
ite({led_red, 0); brightGre() :
(led green, 0); } =ls= if (results.valus = O0xFFE21D) { //{TFaS@itifdBEm=mEils
{led blue, 0); brightBlu(] ;
// Lﬂj%ﬁﬁéii’fm&ﬂc } else if (results.value == 0xFF6897) { //45'3ith ZRSEMAT
delay (1000) rob{);
/¢ ¥t 1eo } else if (results.value == OxFFBOAF) | //{5+S 3 MBS AT
led. 0x lightR{):
/i IREEE. } else if (results.value == OxFF38CT) {
| lod.backlight(): n (BT 3
rsor(0, 0); led.print{val);
r break™): irrecv. E
br led red, val); delay(1000)
VA TR BT {led_green, val): 1
} else {}; led_blue, val): 1
irrecv.resume(); (val); 1
ay(1000) ;
} (1,05
} ("Mix BV:");
SART A SEERIT wnile (F) 4
slse if (results.value == OXFFSAAS) { if (irrecv. =(cresults)) {
Serial. HRENEERY: "
| Serial 1n{results.value, 2
Cin("EIT) ) . Vigreen mode™) ;
3 if (results.value = OXFFLEET stz val < 255) [
rsor(o, 0): val = val + 30;
OFF") ; } f (results.value == OXFF4ABS & val > 0)
1 val al - 30;
while (1) | be (results.value == OxFF38CT) {
/TR ME if (irrecv. sresults)) |

irrecv.resun=();
1
]

Serial.

EIBHREAT: ")

serial. (results.value, H

"BV:red mode”):

if (resulcs value == OxFF18E7 ss val < 255) |

al + 307

(results.value == OxFF4ABS & val > 0) |
val = val - 30;

SR ) } els (r_‘eﬁul\:ﬂ value == 0xFF35CT) {
tin(results.value, HEX): u

//functions
void brightdll() {
while (1) {
if (irrecv
Serial

(sresults)) |

Serial

0

("BV:mixed mode"):

if (results.value == OxFF18ET ss val < 255) {
val = val + 30;

} else if (results.value = OxFF4EBS s val > 0) {
val = val - 30:

else if (results.value == OxFF38C7) {

incln ("B

vsid brightBlu() |
={led_red, LOW)
(1ed green,
(led blue.

digita




while (1) { ' delay(1000);

if (irrecv.decods (sresults)) { led blue, LOW):

Serial.println(“HHEEHEERT: ™ : if (irrecv.decods (sresults)) {
Serial.println(results.value, HEX); if (results.value == OxFF38C7) {
led.clear(); Serial.println ("Bt :
led.print ("BV:blue mode™); led.clzar():
if (results.value = O0xFF1SE7 && val < 255) | lcd.print ("Break™);

val = val + 30; break;
} else 1f (results.value == OxFF4AB5 & val > 0) { }

val = val - 30;

irrecv.rssume();

} else if (results.value == 0xFF38C7) { delay (1000);
Serial.println{"Bit™) 1
¥
3 ¥
void lightR{) {
1 int lig:
analogWrite (led blue, val);: whils (1) {
Serial.println(wval); Serial.println ("NEERASERY") ;
led.clear(): led.clear();
led.setCursor(l,0); led.print ("LDR™);
led.print ("Blu BV:™); led.setCursor(0,1);
led.setCursor(l,8); led.print ("BV:™);
led.print (val) ; lig = analogRead (potpin) / 4;
irrecv.resume ()7 Serial.println(lig);
delay (1000) 7 led.setlursor(4,1)
1 led.print(lig)s
1 analogirite (led_red, lig):
1 analogiirite (led green, lig);
veid rgb{) { analogirite (led blue, lig):r
digitalWrite(led red, LOW): delay (300) 7
digitalWrite(led_green, LOI if (irrecv.decode (sresults)) {|
digitalWrite(led blue, LOW); if {results.value == OxFF33C7) |
Serial.println("=&FF"): Serial.printin("BEH™):
led.clear()s led.clear();
led.print ("RGB") ; lcd.print ("Break™);
while (1} { break:
digitalWrite(led red, HIGH); 1
delay (1000) ; irrecv.resume();
digitalWrite (led red, LOW): delay (1000);
digitalWrite{led green, BICH);: 1
delay (1000} 7 ]

digitalWrite(led areen. LOW): }




